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The founder of classical school of thought is , q.JLdJ‘f W
Robbins 7 (D) Marshal J’A (C) Keynse ﬁ( (B) 'Adam Smith i“rﬁl (A)
The economic laws are , el {3

’ ‘ Quantitative (/l&# (D) Conditional L,/‘ (C) Permanent J‘l (B) Exact d‘g (A)
. The Marginal utility is denoted by : . R q_.../llo&ﬁl?g
' ‘ , MU (D) MC (C) MR (B) MA (A)
Consumer g.oods are consumed by a person s q_rfdﬂd/ak‘lu‘.{f
Often }( I (D) Never u-‘."( (C) Indirectly k-1#( (B) Directly w=—lulz (A)
Which one is not a discontinuous variable e : q_ﬁ"d"j-'uf
Consumption i (D) Time .."J'J,(C)' Demand for goods ..,J’J’é. (B) Supply of goods J/‘JJG‘— (A)
The cause of extension and contraction of demand is : q_.?,Jsl}‘:,tsMZ.J
Population (&7 (D) Technology (/b€ (C) Income 44T (B): Price = (A)
The demand of basic necessities is - ' 4.8:1#&5&1;/‘15;9
Zero elastic Jug)‘ (D) Infinite elastic JL«?»]U {C) Less elastic Jugrf (B) More elastic ;ug.}y (A)
The slope of supply curve is ‘ G-t SKTaruls
' _ Infinite »s1 (D) Zero }" (C) Positive =& (B) Negative d" (A)
The supply of goods depends on V 4.?:11‘4:4!:6«1&?!
Output ¢/hig) (D) Price {::-Z (C) Willingness ¢oli (B) Utility 561 (A)
~ When demand increases at fixed supply , then prfcé q_algx.uyé.(gm:&}_,”{rzdf’
Becomes Zero A (D) Remains constant sl (C) Increase wlJj (B) Decrease ( (A)
Factors of production are . u_!ﬂ,guéb
‘ Four Jg/(D) Three £ (C) Two »(B) One i (A)
Supply of land is : q..&xy;&uﬂ)
. A Marginal ?.‘f (D) Infinite st (C) Variable ;."‘ {B) Fixed =2 (A)
The application of law of increasing returns is on &t L’J'L/.%JW
"Housing 4:‘!/? (D) Trade {cw(f (C) Agriculture—y=#LJ (B) Industry 4&", (A)
Marginal productivity is denoted by v U_YL/';:(FJ‘;I:L&ﬁ
MC(D) MP(C) AP (B) AC (A)
The sum of VC and FC is 4ok i mspat s>
Total costs JJMf (D) Average fixed costs ilstsp<b~! (C) Variable costs 342> (B) Fixed costs JJWJ (A)
The change in total costs for the production of every new unit is ut?:fd’ A’U:JJM!LL/ 4&5’16'}
Marginal cost ...ubv(“ (D) Variable cost _:JW/"‘ (C) Average cost ilehsl (B) Total cost wise gf (A)
The change in total revenue is called 4_t'bl¢G(JMJMJ

Transfer payment ggl:ld@l (C) Marginal revenue dr’:f‘f (B) Average revenue (9hk! (A)

Slope of average variable curve 566l dsmh! (D)

In day to day market the supply of goods is ' 4.&1#1(;2&624.4
Less elastic ,ugf (D) WMore elastic Juguy (C) Infinite »Y (B) Fixed uf' (A)

How much rent is yielded by marginal land ? q..t'xdﬂ(d)# .

Normal (Ut (D) Zero j*(C) Verylittle (e (B) Very high wijeg (A)
The reward of capital is 4t
Profit or loss uh‘ﬁké’ (D) Wage =.2f(C) Interest » (B)v Rent d (A)
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QNO. 2 Write short answers of any Eight parts 8x2=16 ;LW}&WWT:.&;J_J@ 2 A
Z Al d (V) ¢ q_:l/ge—H' (i Jdﬂukb‘hfi‘"rﬂ (i AJM'V"?V/WV 0
J.gj[}i-,w (viii) q'{._yﬂd@m/(‘ (viD ¢ 4_,1/{.-.-,._-;&- i) & 4‘{3,‘)&,&‘ IO LIE HF s (V)
? e o™ G 2Ly AL G () e tighd (0 2tsn Pl i (0

() Differentiate between economic and non-economic goods (ii) Write Adam Smith's definition of economics

(iii) What is meant by science ? (iv) Define Macro Economics (v) Differentiate between state laws and moral laws
(vi) What is meant by consumer ? (vii) Define marginal rate of substitution (viii) Write definition of equation

(ix) Write two assumptions of law of demand {x) What is meant by extension of demand ?

(xi) Write definition of elasticity of demand (xii) What is meant by point elasticity ?

QNO. 3  Write short answers of any Eight parts 8x2=16 4‘1.;!!/‘9& rW!lT;.Jf:—ng» 3 A
) q-:/k(c—.ﬁdﬂ; R e /g:.ug&a Giv) éuwauiﬁ' GiD gqﬂ[,l,vw&a (u) T q.;))ﬁ)ﬁu."b:hﬂ 0]
4l /U’c.fy () el /&f:_dg)f&.ﬂ (il ¢ ¢ L Ut s Cvii) ¢ ) /Q’c—dmﬂg i)

® Ul E st (i) ¢ el emfifie (xi) © 4l /kf;gﬂgdg (69)

(i) What is the difference between supply and stock ? (ii) Define functional equation of supply

(iii) Define the law of supply (iv) What is meant by elasticity of supply ? (v) What is meant by equllibnum point ?
(vi) What is meant by production of wealith ? (vii) What is meant by efficiency of land ? g
(viii) What is meant by mobility of labour ? (ix) What is meant by organization ?

(x) What is meant by scale of production ? (xi) What is meant by extent of market ?

(xii) What are internal economics ?

Q.NO.. 4 _Write short answers of any Nine parts | 9x2 =18 4~§b’/’£ﬂﬂ) a—ch—(bbJJ 4 /U"" ‘
éﬁ%ﬂm«-‘}; Giv)® .;,mr‘Pufm’J WSS GiD) § uerUz(d.h“Lu"Lsdzw&M} Gi) ZE Al -
4?0:&5»@1.«0’;3&&.’/ (viD) £bbBL U FEalinlL fZE Stnilgl () ZEp AS L™ 15 (v)

f {.t’(glfd_.’u;;b’:rb/ (xii) & Jﬂiuﬁgﬁuﬂ &) § el e =283 (x) 25 5087 (i) & JVUU»Z_UJI (viid) X

f e /;‘(‘J,wdm_ﬁ,(.:x (xiii) ‘

(i) Define variable cost (ii) Why long run cost of production curves are flatter ?
(iii) What is the shape of short run total cost curve ? (iv) Write conditions of perfect competition

(v) Define super normal profit (vi) Construct the average and marginal revenue curves under mohopoly
(vii) Write down the types of market according to period under perfect competition

(viii) Write two essentials of a market (ix) Define the differential rent (x) What is meant by money wage ?

(xi) Write two advantages of minimum wage (xii) How rate of interest is determined ?

(xiii) What is meant by marginal revenue product of labour ?

f} doma
NOTE : Attempt any Three questions from this part 10x3 =30 é d'u‘:-ﬂb’c}-’c—dfc—tﬂ-"tﬂ JOF
"Is Economics Science or Art ? Give arguments in favour of your answer Z::(J';J:‘ﬁc?&yb‘tz'_l TL-I‘&{-HE?VU’. -5 A
What is meant by indifference curves ? Describe its properties q‘{wkaw&ylﬁ f 4—:’/{4—6}#&# -6 A
Explain the law of supply with the help of table and diagram ’c.{c.rlflb;luwwwgfr/uiﬁ' -7 A
Explain firm equilibrium under monopoly éﬁlﬁu{uf@:{;ﬂ'—zﬁﬂfl’ww -8 A
Explain the Ricardo theory of rent ool 06, o A
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